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Y ug - ¥ / SECTION - A
TS 7 Objective Type Questions

o7 @87 17 807% TR yy §) gf @ freelt 40 Wyl @7 FA¢ 4T 21

gF T & W AR [T Ry my § frt @ o wdt &1 oA G 97
my @@ FFCT # OMR e W fafdr a1 40 x1=40

Question Nos. I to 80 are of objective type. Answer any 40 questions. Each

question has four options out of which only one is correct. You have to mark

your selected option on the OMR sheet. 40 x 1 =40

L ﬁmﬁﬂ’@aﬁ@ﬁ?qmaﬁﬁﬁwmé?

@) R (B) TR

© Fegs D) T ¥ HE
Which of the following is found in pollen sac ?
(A)  Stigma (B)  Pollen grains

(C)  Corolla - (D)  None of these

R2) Wﬁv@wmmﬁm?

&) e B) ST
O (D) WeeRFT
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(A) Auxin (B) Oxytocin
(C) Ethylene ’ (D) Cytokinin

FHANTH T ) Farﬁ:v g

(&) SISO (B) E@Tﬂ |

© foEew D) T8 & §eft
Which is a method of asexual reproduction ?-

(A)  Sporogenesis . (B)  Budding
(C)  Fission (D)  All of these
T S T ¥ g Ry i 5 T e o 2

(A) T - B) T H

©) T w o FEITH
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which plant did Mendel choose for his experiment ?

A Pea (B)  Gram

() Wheat (D) Allof these
fopifehel ® et ‘Siter formt b frer’ st e & 2

@) T (B) W H

© TN e ® D) WRSH ﬁ@a Eal

Who among the following is called the ‘Father of Biology’ ? ‘

(A)  Lamarck (B) Aristotle
(C)  Charles Darwin (D)  Gregor Johaﬁn Mendel
e T o o W g A
@A) 1 | (B 2
c 3 D) 4

number of sex chromosomes.

A) 1

D) 4

/’
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mwﬁmaﬁwaﬁﬁwm’\%

(A)  FARRE & @y o (B) ﬁﬁw%mﬁ

D) wrgeiifer o

Light reaction of Photosynthesis takeg place in

C) P g1 &

(A) Stroma of chloroplast (B) Grana of chloroplast

Q) Cytoplasm (D) Mitochondria

TS Searfe o R &0 Y H B &
(&) e Y B) TEeR
© g H D) Ty

Urine produced in kidney is stored temporarily in

(A)  Urethra (B)  Ureters

(C)  Nephron (D) Urinary bladder

ﬁmmﬁﬁq-zﬁmﬁ?ﬁﬁm??
() A L

(C)  RIERRY (D)

[2121
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11.

[212]

Which of the folloﬁng non-metals is a good cor_lductor of electricity ?
(A)  Chlorine (B)  Graphite

(C) Phosphorus (D) Sulphur

o st # et H weR e frawier ag & 2

(A) Na (B) Cu

(C) Au | (D) Hg

Which of the following is the most reactive metal in the reaétivity

series ?
(A)  Na B) Cu
© Au (D) Hg

S G fohed e I e ¢ ?
(A) 20 HE H (B) 22 h F

CF 24 FZ & | (D) 26 HE H
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12.

13.

[ 2]

Pure gold is of how many carats ?

(A) 20 carats (B) 22 carats

(C) 24 carats (D) 26 carats

feifera o foay wi) ot aifia o gamet v €

A)  Gifeaq (B)  Hmferm

(C) 1| (D)  URT

Which of the following metals is kept immersed in kerosene ?
(A) Sodium (B) Magnesium

(C) Tungsten (D) Mércury
mﬁww‘ﬁﬁmﬁﬁgﬁﬁ@ﬁamﬁm% ?

(A)  OH 31ad (B)  H' T

(C) H,O 3 (D)  H,0* HEA

Which of the following is produced in aqueous solution of an acid ?
(A)  OH ions (B)  H'ions

(C)  H,0 ions (D) H,O" ions

EZTS’QT(Io/so, | Page 10 of 48
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15.

16.

[212]
foAifend O I 99 GO 3 TA & 2

(A) HF (B) HCI
(C) HBr (D) HI

Which of the following is the strongest acid ?

(A)  HF (B HCl
(€) HBr (D) HI
Y[ ST &1 pH T &Il &

A o B) 5
L 7 | (D) 14

The pH value of pure water is
(A) 0 B) 5
c 7 (D) 14

freafefigg & SH-97 S &1 Felg fgeed Ao foemd o s oo &
qATE ?

A) I B) HH

(C): o= (D) T H HE T

2132-(49/50) ‘ Page 11 of 48
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18.

[21y
An aqueous solution of which of the following substances turns bl

litmus paper into red ?
(A) Acid (B) Base

() Salt ‘ (D)  None of these

et et 2001 & BT T+ 20 em 31 7€ el w07 g T

HE ? ,,
(A)  3TEe B) 3T
MO @R ) IR (D) FH ¥ HlE Tl

The focal length of a spherical mirror is + 20 cm. What type of

spherical mirror is this ?
(A) Concave - (B) Convex

(©) Both (A) and (B) . (D) None of these

qHdel UUT gRT &1 Wiafes 8T &
(a)  SIE® (B)  HreuH

Cr (A)aﬂt(BRﬁf D) T ¥ FIE Tl

2132-149/50 | Page 12 of 48




n . [212]
The image formed by a plane mirror is
(A) Real (B)  Virtual
(& Both (A) and (B) (D) None of these
frfernad o § 300 gF B 2
1_1 1 11,1
(A) F v u (B) 7= 2
1 _1 1 I T
© F=3"3 o) ¥
f u v
Which of the following is the mirror formula ?
1 _1_ 1 i_1,1
) f v u B) f v u
©) %: = % = % (D)  None of these
20. el GHAE UOT NI S €iell §
A)  +1 B -1
o I D) T | &
Magnification done by a plane mirror is
A)  +1 - B) -1
(C)  zero - (D)  none of these
P —
#132.F-838/838(77/84) 2132-(49/50) | Page 13 of 48
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[ 2121
21 ﬁm’rﬁﬁgaﬁﬁmﬁwm%ﬁaﬁwawnﬁuﬁﬁam

THar &

(A) Waﬁmxﬁ B) I FUUT H

(C) 3T YuT | (D) FH 9w

In which of the following mirrors, can a virtual image of an object be

obtained ?
(A) By plane mirror (B) By convex mirror
(© By concave mirror (D) All of these

22.  HTHRHT At T AT R aftge 1 aiomg & 2

(A) TR | (B S
(C) WU (D)  3H 9§ HIT &

The blue colour of the sky is the result of which phenomenon ?
(A) Reflection (B) Refraction

(C) Scattering (D) None of these

2132-(49/850) Page 14 of 48




II [212]

Ba,) forcer we @ e e # el g€ o g e &

A) 3N H R B o R
© ofTEswEEE o) e @ a
A ray passing from a rarer medium to dense medium bends
(A)  towards normal (B) away from normal
(C)  coincident with normal (D)  none of these

24, freAfeiad § § RFE o9 &) TI6T G 4TS B € 2
(A) W-ﬁ'ﬂ’ (B) - FHTH- A
(C) FITA o9 (D) T Y P @
Which of the following lenses has positive focal length ?

(A)  Convex lens (B)  Plano-concave lens

(©  Concave lens (D)  None of these

\
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[212|

25. Ty pH HH o6l eI GEE Il e & 2
(A)  pH=5 B) pH=10
(©) pH=11 (D) pH=8
The solution of which pH value will be most alkaline ?
(A)  pH=5 | B) pH= 10
© pH=11 (D) pH=8
26. AT STt I THEE Y &
(&) T By e g
© el T D) Hhw s
The chemical name of iime water is |
(A)  Slaked lime (B)  Calcium hydroxide
(©)  Quicklime : (D)  Calcium oxide
27. fr=iea d der W w g A ¥ 2
(A)  CaCl, (B) Na,CO,
(C) NaCl | (D) NaHCOj,
2 132-(45/50) Page 16 of 48
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Which of the following is the formula of soda ash ?

(A)  CaCl, | (B) Na,CO,
(€) NaCl - (D) NaHCO,
0g.  FAifehe H i TSR TET G E 2
(A)  Na,SO,.10 H,0 (B)  Na,S0,.7 H,0
(C) Na,S0,.5H,0 (D)  Na,S0,.2 H,0

Which of the following is the formula of Glauber’s salt ?

(A) Na,S0,.10 H,O (B) Na,S0,.7 H,O

(C) Na,S0,.5H,0 (D) Na280'4.2 H,0
2. Fretifere # weei g # E 2

(A~ TR B) o Tl

© AR AR (D) forewE T

Which of the following is a synthetic indicator ?

(A)  Turmeric ' (B)  Red cabbage
(C)  Methyl orange (D)  Litmus paper

\_

|2132-(49/50). Page 17 of 48




30.

31.

92,

(A) Removal of hydrogen (B)

[212)
ﬁmﬁ%ﬁ&sﬁmwﬂﬁmm%wh

(&) et (B) W g

©)  Rifgm (D) Fgen
Which of the following substances burns without flame ?

() Candie (B Methane gas

(©)  Kerosine (D)  Coal

TR ﬁ} Fetfetfigs & 9w a2 -

(A) TGS 1 fag (B) TARH F i
(©) ST 51 Ay (D) ¥ T gsh
Which of the following takes place in oxidation ?

Loss of electron

(C)  Addition of oxygen (D) All of these
m%é@amﬁmwﬁ-ﬁﬁvwaﬁr% 2
(A) 3 | (B) EEGSH

©  siadem (D) T I HE T

2 132-(49/50)] Page 18 of 48
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Which gas is liberated at cathode in the electrolysis of water ?

(A} Ozone (B)  Hydrogen

(C)  Oxygen (D)  None of these
33, el &l W‘W T

(A) U BRI 31 S T AT T qA

B) fawaEidX

(©) U1 FN TRl IR W R w Eae)

D) T @r ﬁs T

Electromotive force of a cell is

(A]  the force exerted by the cell on unit charge

(B) potential difference

(C)  the work done by the cell on unit charge

(D)  none of these
34, Wﬁf@mﬁaﬁw‘f'wwﬁﬁf%

(A) TR (B)
Lo e o

2132-(49/50) Page 19 of 48



3S.

36.

[212

The flow of energy in an ecosystem is

(A)  unidirectional (B) multidirectional
(C)  bidirectional (D)  cyclic

AN N S 1, AHE ¥

@ (o) B T (C)

(C). Quﬁq'((Aj | (D) | e (V) |

The S.I. unit of charge is

(A)  ohm (Q) (B)  coulomb (C)
(C)  ampere (A) (D)  wvolt (V)
R QN A AT WE-U1F 3@ FHar &

Ay fre =t axgett =t B) T F TEA W
© FEoRwEmEiH () e ad g
Eye with farsightedness can see clearly ,

(A)  near objects ' (B) far objects

(C) only small things (D)  only big things
[ 2132-(49/50) | Page 20 of 48




37.

[212]

ﬁmﬁ@ﬁﬁ-wma‘mwmwwaﬁ%?
A) TS S | (B) g Tm
(© YA Heh D) TRTRR Feft

Which of the following energy sources is not a derivative of solar

energy ?
(A) Wind energy (B) Biomass
(C)  Geothermal energy (D)  Nuclear energy

e RT3 T e ) i R fe o 2

A W (B) T

€ @R ~ (D) s

Who discovered the magnetic effect of electric current ?

(A) Faraday (B) Ampere
© Bohr | (D)  Oersted
39, et =t Fdwie UROE H 4T wied QO A E
(a) IO @G FI | v:(B) | 3T YT i |
© awaaa U D) (&) R (@) I

2132-(49/50) Page 21 of 48
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i i iti r
In the coordinate sign convention, the focal length is positive fo
| (A)  convex lens (B) convex mirror

(C)  concave mirror (D)  both (A) and (B)

40. Frefefes & fieg sror @ QU= T ® oG 96 [9Ed 1 GO
BT E 7

(A) I FUTET FY Y F HROT

(B) IS WE HOMS G Y faadia fyem # it & o

(c.) el U T TR F HROT

D

Due to which of the following reasons an aqueous solution o
common salt is a good conduétor of electricity ?

(A) - The motion of negative charge only

(B)  The motions of both positive and negative charges in oppositt

directions
(C)  The motion of positive charge only

(D)  None of these

2132-(49/50)
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41. aﬁ’*ﬁwa‘wcs%%,%%ﬁmamﬁ#w%?

(A) S B) 4
(&) 3 . (D) 2
How many structure-isomers are possible for pentane whose

molecular formula is CgH;, ?
(A S B 4

C) 3

@} Wamﬁm@ﬁésﬁmqﬁmm%?

A 3 B) 13

© 4 @ 14

of which group of periodic table ?

Carbon is & member
s s (B) 13
< A (D) 14

5132-(49/50) Page 23 of 48
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A) T d B) = w w5 @
O TN 9w R (D) & F FE

Goitre disease develops due to

(A) obesity | (B) lack of sugar
(C)  iodine deficiency (D) lack of blood
44, g@a T 1 & -
A) W (B) — vt w
| (€ TNw D) 7 & FiE
Stomata are mainly found on
(A) roots . ' : (B) leaves

(C) stems (D) none of these

45.  THET 9 & IR B e ¥
(A) VUG B) R

© U (D) e

2132-(49/50) Page 24 of 48
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The device for measuring blood pressure is called

(A) stéthoscope (B)  lactometer

(€)  ammeter (D) sphygmomanometer
46. TR H 1 IR AW §

() 3w | (B) ach—r'

(C) e (D)  RTw

What is found in anther ?

(A)  Ovary (B)  Corolla

V(C) " Gynoecium (D)  Pollen grains

7. o T 0T & &

A) & | (B) et |

© wo Ao (D) &Rl et

The colour of lymph is

(A)  green | (B)  red

(C) light blue (D) light yellow

—————

|2132-(49/5F| Page 25 of 48
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48.

49,

50.

[212
M % B v Sy HTHrolt w3 5
(&) Hr (B)  afee wer
€) e (D) DDT
Which among the following is a non-biodegradabie material ?
(A Paper (B)  Sewage
Q) lWood (D) DDT
S ST i AT T &
(A)  crc (B) DDT
(C)  NADP (D)  ATP
The chemical showing biomagnification is
(A CcFc (B) DDT
(C) NADP (D) AP
W T
) e B) G e we e
© e (D) W F7 Rliere)

2132-(a9/50) " Page 26 of 48
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The main function of stomata is

| . g

(A)  Phytosynthesis
(B)  Gaseous exchange and transpiration
(C)  Nutrition

(D)  Transloction of food

51, WgHSA H CO, 1 HicRid T & 2

A)  03% B) 003 %
(CL- 0003 % | (D)  0:0003 %
What is the percentage of CO, in the atmosphere ?
&)  03% (B) 003 %

(©)  0:003% (D)  0-0003 %

5o Ol & Ieae T §
@A) (B) g
(©) Gl (D) T & it
e

l2 132-(49/50ﬂ Page 27 of 48
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54.

[212]

The excretory substance(s) of plants is/are

(A)  Tannin (B) Gum

(C)  Resin | (D)  All of these
ST 7Y gRT 6 1 g ﬁ TshAT FEeT &
A)  TEATRHEE (B) SHESR

(C) Telte D) ferremfaraa
The process of purification of blood by dialysis machine is called
(A) dialysate (B) .

dialyser
(C)  cellophane (D)  haemodialysis
et ® I TeeErTga 1 3SR § 7

(A)  FA H P | (é) BRI

(€ F W g | | D) T R
Which of the following is an example of geotropism ?

(A) Growth of fruit (B) Growth of root

(C) Growt—h of flower (D) None of these

2132-(49/50) | , | Page 28 of 48
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/j qoi feehfaa siemm weemr &

@A) o B)
(©)- diig D) T @ FE

The fully developed ovary is called as
(A) fruit (B) seed

()] ovule ‘ (D)  none of these

56. TR ST GET AT ®

(&) e | B) AIH
() TsH (D)

Sexually transmitted disease is
(A)  Jaundice (B) Chickenpox
(C)  AIDS : (D)  Plague

57 stadie o afded @ AU SRR T et gee @

(A) RBC (B)  WBC
) e gl (DY | )
S V ‘ 2132 (49/50) :
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59.

[212)

. | | ‘ e
The component of blood responsible for transporting oxygen i

(A)  RBC (B WBC

(€) Blood platelets (D) All of these

vy AT format v &
A} IRR ey - B) dtE
(©) 'E‘Tﬁaﬁ#ﬁ? D) o o ’

Vermiform appendix is g part of

(A) Alimentary cangg (B)  Nervous system

(€)' Vascular system (D) Reproductive system
TERT B AR Wie F) 1y &

(A) T R ST

Q)  WEAE | (D) SHRIed

The movement of shoot towards light is

A) Geotropism (B) Hydrotropism
(C)  Chemotropism (D) Phototropism
2132-49/50) Page 30 of 48
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60. [HEY T=A % foTU SAEH I A9 1 WA i Gole &t A & 2

(a) T (B Ha
©) Wﬁﬁfﬂq (D) T @ g T

The use of iodised salt is recommended to prevent
(A) Diabetes (B) Goitr¢
< Hypertension (D) None of these
o1, e qrer sl %) s e &
(&) 12 (B 81T
€ 24 (D) 10 Gﬁ@r
The number of cranial nerves present in human beings is
(A) 12 pairs (B) 31 pairs
(©) 24 pairs (D) 10 pairs
62. ﬁmwﬁ—wmﬁﬁﬂmﬂﬁﬁﬁ% ?
() meA-ARETE Rt

(€ uvE-HfET D) A

|2132-(49/50) | Page 31 of 48
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64.

[212]

In which part of the brain is the centre of smell recognition ?

(A)  Mid-brain (B)  Fore-brain
(©)  Hind-brain (D)  None of these
WY TG 6 BT Ghe BT FEAT &

(A) | ﬂ=ﬁu13?r | (B) EAN

() TiEew =k | (D) T F gt

Appearance of first menstruation is called
(A) Menopause - (B) Menarche

(@] Menstrual cycle (D)  All of these

Frfetfad & & N ?@‘ﬁqmwﬁﬁﬁ@ﬁﬁr% ?

(A)  helH e (B) <9 &etH

(C) Wﬁm D) 9 ¥ gt

Which of the following is a method of artificial vegetative

propagation ?

(A) Cutting (B) Layering
(C)  Grafting (D) All of these
L2132~(49/50) ‘Page 32 of 48
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- .

[212]
T WY ¥ e mem § o e w HGAT HIT (i 20) AR

I BT () H T oY BT § 2
(A) i>r

(&3] r>i

What is the relation between angle of incidence (1#0) and angle of
refraction ( r) in moving from a denser medium to a rare medium ?

A i>r

© r>i D) r=i=0

Frétin et TRt § ot ot Ay ol &

(AL . AT H W

By =R

© wETI (D) T HE A

All distances are measured in the coordinate sign convention

(A)  from centre of curvature (B) from pole
(€)  from focus (D)  none of these
————

2132-(a9/50) | Page 33 of 48
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7. Fretisfia & Qv @ o d 7 A & 2
(&) (By  Teferm
© T D)
Which of the following metals is solar cell made of
(A)  Gold (B)  silicon
©  Zinc | (D)  Platinum
68. THIYH % WHT URqy ﬂfdﬁw
(&) et @ e & (B) &I FH B W &
©  gq iy w5 vy & D) T ¥ i 7
During short circuit, the resistance of the cireyt
(A} remains unchangeq (B)  becomes very low
(C)  becomes very high (D)  none of these
69. (100 W, 220\/)%@%%341% 100v'r\a‘qa'ra-{am&|am—2yq;
yenfe ferege wmy gt
(A) 1_22§.1_ A B) 1A
© 2a © T
2132-(49/80)
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A potentia] difference of 100 v is app] :
PPlied acrogg a (100 W, 220 v )
rated bulb, The Current flowing wip e
A 25
A oA B) 1
S
© TlA : (D) None of these
70. TSR 9o % fremie w1 gey ey 2 |
(A)  ATEHIT (B) — TR FH
(C) e D) T P
The material of the filament of an electric buklb is
(A) nichrome (B) tungsten |
(C) iron (D) none of these
71, YRR H FAaH RS ¥
(A) 550 nm \ (B) 380 nm
(©) 100 nm - (D) 760 nm
L B132-(49/5<f| Page 35 of 48
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73.

[212]

The minimum wavelength of light is

(A) 550 nm | - (B  380nm

(©) 100 nm (D) 760 nm

FEIA SRR % T e F 3 da &

() WeareE B

©) =t e O T

Due to electric resistance, conductors acquire

(A) elasticity (B) magnetism

(C) thermal effect (D) none of these

Ui Qrer 1 TaEhE T HRE 7
(A)  NaHCO, B Na,CO,.10 H,0
(€)  KNO; . - (D) CHycooH

What is the chemical formula of washing soda ?

(A)  NaHCO, () Na,CO,.10 H,0

(C)  KNO, (D)  CH,COOH

2132-49/50) Page 36 of 48
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7 Cu " ® P
(C) Fe : (D) Ni
Which of the following is a non-metal ?
(A) Cu B P
(C) Fe | (D) Ni
-
Ffoway i WH] & =T E 2
| A) 12 (B) 18
(C) 20 (D) 25

‘What is the atomic number of calcium ?
A 12 | B) 18
(C) 20 (D) 25
et it st ol it A < P ¥ 2
a) 10 B 9

© 8 @ 7

-
o
| | Py

N E——




77.

78.

(212

How many groups are there in the Mendeleev’s periodic table ?

A) 10 (B)
(C) 8 (D)
e 1 et @

(A) Feso4.7H20 (B)
(©) CaSO4.5HéO (D)

The chemical formula of gypsum is
(A) FeS0O,.7H,0 (B)
(€)  CaSO,.5H,0 (D)
AR T IHAV] 9K =7 ¥ )

A 10 ®
€ 12 (D)
What is the atomic weight of Boron ?

(A) 10 (B)

C) 12 | (D)

CaSO0,. $H,0

CaS0,.2H,0

CaSO,. }H,0

CaS0,.2H,0

11

13

11

13

! :#-v

2132-(49/50)
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7. mﬁmﬁmﬁﬁmmﬁwm%?

(A)  Zn B) Al
(C) Fe \(_E)/ Hg

Calamine is the ore of which of the following metals ?
(A)  Zn (B) Al
(C) Fe (D) Hg
80. ST & Uk U] T AR T BIEEIST h URAISN T AT §
@A) 3 1 _(B) 1:3
Qo 21 D) 1:2

The ratio of the atoms of nitrogen and hydrogen in a molecule of

ammonia is
(A) 3:1 (B) 1:3
© 2:1 D) 1:2

, 48
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@Ug - ¥ / SECTION - B
i M / Physics
g ITE T / Short Answ;r Type Questions
qvT qEr 1#8@@%%/##%4@%‘3373‘/%
7o & g 2 9% Fraiid &1 - . 4x2-8
Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions. Each

question carries 2 marks. 4x2=8
1. AR ol ¥ T T EEATE 7 2

What do you mean by nuclear energy ?

2. g g &1 Widy foa ardt @ ek st g 2 2

On which factors does the resistance of a conductor depend ?
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3R F1 ¥ 2 7% P TR H ek ) 2

What is defect of vision ? How many are its types ?
Wﬁwaﬁqﬁuﬁaﬁq&mﬁsl.mﬁé\ 2
Define electric potential and write its S.I. unit.

sreiet O ) AT org i e S € 2 2
Why is a concave lens called a diverging lens ?

doR det @ fore 3 FA F F1 A €2 2
What are the benefits of generating eleétricity frofn solar cell ?

3 s A P e ) S T R 2 2
Why is it necessary to earth metal casing electrical appliances ?
SaTed U ot HiET T E 2 ' | 2

What are the drawbacks of fossil fuels ?
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e IT W / Long Answer Type Questions
TV WRT 9 3l 10 o T ww #1 g @ Pt 0 @ I g
T & Ry 6 i Fraifiar &1

Ix6=¢

Question Nos, 9 and 10 are Long Answer Type. Answer any one of them,

Each question carries 6 marks.

Ix6=6
T T e ) oo w2 e s o 6
What is the process of accommodation of human eye ? Explain it.
10. %_WWWWﬁmwmmmm% ? 3 e
b T si |

6

Which type of iron is used in electromagnet and pPérmanent magnet ?

Explain the difference between both types of magnet.

4x2=8
11, ﬁwmaﬁ%mﬁﬁswﬁﬁwmﬁaﬁﬁww#w
A | 2

i) 4Na(s)+02(g)—>2Na20(s)

1i) CuO(s)+H2(g)—>Cu(s)+H20(l)
12132—(49/5?|
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12.

13.

14,

15:

(212 ]

Identify the substances oxidised and reduced in the following

reactions :

i) 4Na (s) + 0, (g) > 2Na,0 (s)

ii)

CuO(s)+H2(g)—>Cu(s)+H20(l)

ﬁaﬁw@:ﬁﬁmwwaﬁaaﬁqﬁm%? 2

Why is the behaviour of an acid not acidic in the absence of water ?

FA G ? 2

Why do the compounds like alcohol and glucose not show acidic

property in their aqueous solutions ?

wﬁawmﬁﬁwmaﬁmﬁﬁﬂmm%qqﬁﬁmaﬁ
mﬁlaﬁ?v . 2

While diluting an acid, the acid should be added to water and not the

~ water to the acid. Why ?

G ¥ sy 9 AaR F S ¥ o

How is an alloy made from gold ?
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l6. I SIS ( O, ) H Folagh g wiear

Show the electron dot structure of carbon dioxide (CO2 ).

/

17.

%w%?méu

What js detergent ? Give example.

18.

WW%meﬁaﬂaﬁwﬁ ? ITH dem ford ),

What are short ang long periods of periodic table ? Write their

Number,

<id ELrie] e Long Answer Type Quéstions,

¥ GET 19 v 20Wma§lm#&#wwm%/mm
& forw 5 iz Fratfia &)

Each question carries 5 marks.

19, FEAE ¥ g o gy LR R T R S ——
fomr & 2

S

What do you mean by saponification ? Explain. How is it different

from esterification ?
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20. THHENS WA = ¥ 7 frifeg ghwor @ @9 gEed S
A ¥ 2
280, + O, - 2S04

What is a chemical equation ? What information are obtained from

the following equation ?
280, + O, —> 2804
aﬁa fa@ = / Biology
g I U9 -/ Short 4Answer Type Qﬁestions
m#wzz#zga%agawﬁ#?tgaﬁ#ﬁﬁ#4wﬁ%éwé‘l oy
v & forg 2 s freifRer &1 4x2=8

Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions. Each

question carries 2 marks. 4 x2=8:
21, A9 = H T H E | 2

What is the function of umbilical cord ?
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22,

23,

24,

25.

26.

27,

[212]
SR /7y 3 ) ’
What js heterotrophic nutrition ?
RS o Rt g R FRY 7 o

What g the differénce between autotrophic and heterotrophic

Nutrition 7

ﬁéﬂnw%?mm%@

2
What is vilj » Write its ful;lction.
TR ST F oy o) ach AT 2 2
What is the role of acid in our stomach ? .
mw%?wwwmﬁwqﬁamﬁm%? 2

What is blood ? Which component of it is helpful in gaseous

transport ?
BIH T gresmT 3| ,
Define hormones.
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28.  UHRISH uw fFd Fea & 2

What is greenhouse effect 7

-\
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